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1. If fix) = x* and g(x) = 3(x + 2), find the value of each expression below.

a. fl2) b -
L - g2)= 2(>+2)
§(2)= (2 = 3(4) 56)-2"
e - (2 e
|\~ N ) /
c. flg(2) - (W)Lf 4. g2y - 20

e. Are f{x) and g(x) inverses of each other? Justify your answer.
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2. Add or subtract each pair of rational expressions. Simplify the result.
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3. Find the inverse of each of the functions below. Write your answers in function notation,
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4. Solve for x without using a calculator.

a. x = logas(5) b. log(1)=0

c. 23 = logjo(x)

5. Find the equation of the parabola that passes through the points (—2 24), (3,-1), and (-1, 15).
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6. Solve each of the following equations to the nearest 0.001

. (5.825) 9 =120 b. 18(1.2)3Y = 900
e 5.825" " =g 170
5 325 — (120 divide by 18
(X ':b) /‘7 : /47 log both sides
— o 120 ot oy 1012
X “? - add1

divide by 2

5.2%

=2
272,120
K= 3% L3 s2g2

7. Identify the vertex and the line of symmetry for each one.
_a (X-"R+K

X - 1.5
a. f(x)=4x*—12x+6 X 3 “
500 = H(x"=3%x ) +6 \TS —ﬂ/ 2.25

sx)= Lf(x??x;{ff_) +6 ¢
$(x)= '—l(x-\.B)l-B \Jm W%
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8. Solve each system of equations below.

a —dx=z—-2y+12
ytz=12—x
Bx—3y+4z=1

b. 3x +y—2z=6
x+2y+tz=7
6x +2y—4z =12

9. Multiply or divide each pair of rational expressions. Simplify the result.

2216 x2-3x-18
(.1—4]2 .1'2—21—24
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10. Find the equation of an exponential function that passes through the pomts (2, 48) and (5, 750).

Definition of logs: log,, (@) = nmeans m” = a
Product Property: log,, (a - b) =log,, (a) +log,, (b)
Quotient Property: log,, (5) = log,,(a)—log,,(b)
Power Property: log,, (¢'")=n - log,, (a)

Inverse relationship: log,, (m) " =mn and m logm () = 4,

log,, (@)=

log,, (a - b) = log,, (a) + log,, (6)

log,, () =log,,(a) - log,, (b)
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15 loga(x)=3log,(4)+log,(5)
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19. logs(3x—1)=~1
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23.

3 log(y) =2 log(2) +log(16)
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